
 

A. Choose the Correct Answer: 
1. What is the sum of 1456 and 3210? 

a. 4666 
b. 4566 
c. 4766 
d. 4555 

2. Choose the correct sum of 2100 + 3400 
a. 5500 
b. 5600 
c. 5400 
d. 5300 

3. What will you get if you add 1001 and 1222? 
a. 2223 
b. 2233 
c. 2123 
d. 2323 

4. Which pair gives a total of 7777? 
a. 3333 + 4444 
b. 3000 + 4777 
c. 4000 + 3777 
d. 2222 + 5555 

5. What is the sum of 4567 and 1000? 
a. 5567 
b. 5560 
c. 5667 
d. 5570 

B. Fill in the blanks 

1.  2001 + 3002 = ______ 

2.  ______ + 1111 = 4444 

3.  1234 + 4321 = ______ 

4.  4000 + 5000 = ______ 

5.  5678 + ______ = 9999 

Addition of 4-Digit Numbers (Without Carrying)



C. Different Type Questions 

1. Add the numbers in vertical format: 2134 and 3421 

2. Circle the sum that is correct: 3210 + 4321  

 7531  

3. Add these three numbers together: 1000, 2000, and 3000

4. A library has 1432 books in one section and 2541 books in another. How many 
books are there in total? 

D. Mark each sentence with a True ( ) or False ( ): 

1.  1000 + 2000 = 3000 

2.  1234 + 2345 = 3579 

3.  4001 + 3002 = 7003 

4.  2222 + 4444 = 6666 

5.  5678 + 1111 = 6789 

E. Miscellaneous Questions 

1. Add the highest 4-digit number to 1000 

2. Find the total of 1111, 2222, and 3333 

3. Write any two 4-digit numbers without carrying and add them 

4. Add 1500 and 2500 in a column format 

5. A basket has 1345 apples and another has 2234 apples. Find the total number 
of apples  


